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EEEINEY 532,750 530,050 2,700
101 Q12A4H| 55,870 53,170 2,700
R EEIEEES 55,870 53,170 2,700
OCCTV SSRRAE JI2H2 2K 28 2,700 0 2,700
—AYBE 1,800,0002%13] 1,800 0 1,800
—LOIE) | QUE 200,00021%13] 200 0 200
— D8 AW 700,000 %15 700 0 700
. 1,240,500 1,090,500 150,000
401 Al2HIZ 2 0HH] 1,206,500 1,086,500 150,000
01 Al&H 1,206,500 1,056,500 150,000
OUSIoA MAIZE TVES AIAE 2= 150,000 0 150,000
—SH0IXl Al 37,000,000 14! 37,000 0 37,000
— St a2t 6,000, 00024 *4CH 24,000 0 24,000
—SAESH AR 30,000,002+ 14! 30,000 0 30,000
—SatHoERA 28,000,000 14! 28,000 0 28,000
—JIEF: &2401, AHOIZ, BEI| S
31,000,000 14! 31,000 0 31,000
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101 e124d| 48,307,005 48,290,805 16,200
02 JIet& 2= 1,760,578 1,744,378 16,200
OSSN d=esdd= 208,980 192,780 16,200

—3SEHYA FIt MZESTe=

45,0002 # 102 #4012 +9Z 16,200 0 16,200
201 Zet23 ] 105,192 94,212 10,980
01 AtR2telbl 105,192 94,212 10,980
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